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Nwms: Jara: Onenka:
36x° + 27 — 63x 6x3 + 312 + 13x— 72
Ox 3x+ 8

2003 + 5322 +23x+ 2 6x2 +21x+9
S5x+ 2 x+3
1222 — 3x— 15 18x2 4+ 12x+2
3x+3 6x+ 2
30+ 62 —2lx 27x% — 12x+ 1
3x 3x—1
50— 1922 + 14x— 6 18x2 — 39x + 21
x—3 3x—3
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Nwms:

36x° + 275 — 63x

Ox
A+ 3x—17

2003 + 5322 +23x+ 2
S5x+ 2
b+ 9x+ 1

1222 — 3x— 15
3x+3
4x— 5

36 + 6 —2lx
3x
x2 +2x—7

565 — 192 + 14x— 6
x—3
5% — 4x+2

Jara: Orenka:

6x3 + 312 + 13x— 72

3x+ 8
2% +5x—9

6x2 +21x+9
x+3
6x+ 3

18x2 + 12x + 2
6x+ 2
3x+1

27x% — 12x+ 1
3x—1
Ox—1

18x2 — 39x + 21
3x—3
6x— 17
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